L.},

Set No. 1 12U0/103/28 uestion Booklet No...... ..
[105/ 0 3875
{To be filled up by the candidate by blue/black ball-point pen)
Roll No.
Roll No.
(Write the digitS INWUOTAS] ... ... oo i i et ea et e an s e et e m et et e an s e ee e e e e e ne s eaneen

Serial No. of OMR Answer Sheet i iriaiaa s

Day and Date ..ot e e e (Signature of Invigilator)

INSTRUCTIONS TO CANDIDATES

{Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)

I,

10.

11.

12,
13.
14,

Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. [n case of faulty
Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

De.not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

A separate Answer Sheet is given. ft should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet,

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

Each question in this Booklet is followed by four alternative answers. For each guestion, you are to
record the correct option on the Answe# Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

For each question, darken oniy one circle on the Answer Sheet. [{ you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

Note that the answer once filled in ink cannot be changed. 1f you do not wish ta attempt a question,
leave all the circles in the corresponding row blank {such question will be awarded zero mark).

For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

Deposit only the OMR Answer Sheet at the end of the Test,
You are not permitted to leave the Examination Hall until the end of the Test.

If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.

| Iv frdw fet o aifxmm sreoo-qw o o g} ) [No. of Printed Pages: 44+2



12U/103/28 Set No. 1

Time/®94 : 2 Hours /90 Full Marks/quita : 450

Note /T :

(337)

(1)

(2}

This paper consists of Objective Type Questions and is divided into TWO
Sections (I and I} as under :

ww—wagﬁmusﬁwm%wé@@ﬁ(l@mﬁﬁqﬁ% o e

= affa R

(a} Section—I consists of 130 Objective Type Questions on General
Awareness, Current Affairs, Common Legal Knowledge, Aptitude and
Mental Ability.

(F) @Wvs—I ¥ 130 =gfawcdl v sw= §W, @l fredl, s R
IaFt, el wd aEfas Saar | smuia €

(b) Section—II consists of 20 Objective Type Questions on (i) English
Language and (ii) Hindi Language.

(@) wve—I 3 20 FgFeda 9 (i) O ww o () T vwm F g ow

amutfE 2

A candidate is required to attempt as many questions as he/she can of
Section—I, and questions of ANY ONE of the TWO Language papers
{i) English or (ii) Hindi in Section—II. :

aegeff ¥ omfim 2 fF woe—I aw woe—II % (i) :ﬂﬁsﬁm{u)%rcﬂwm%
aftremfs e ® @ |

Each question carries 3 marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted question.

TRF WA 3 HF H i VA TG IW F AU TH N FR AN | IS IeRa
T F UHIF A @ |

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

If uFfah Jefcds S 8 TR F e wdfla g, & Feean ot 3w 3

Each question is followed by Four alternative answers (1), {2}, (3) and (4). Only
one of these answers is correct. Select the correct answer and record it against
the relevant question by darkening the circle with Ball Point Pen in the
Answer Sheet, as per the guidelines.

THF YE ¥ AOn daferw Imogwm m § MR (1), (2), (3) 9w (4) @FE # guim
TR T Y hEd & @ SW TR R e IW W w959 fifu aw I9% TEHa w5
F-99 § deraedt 7w ¥ e fRengan she gu () Y @ @ide 99 g
F T ewiq |

1 P.T.0)
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1.

(337)

Section—!

wTvs—I1

The act of unlawfully entering into anocther’s property is

{1) confinement {2} restraint (3} appropriation (4) trespass
foht R awafi u iy feg o & &4 R
(1) widy (2) =Y (3) Tfam (4) R

What does ab initio refer to?

{1) Towards the end (2} From the beginning

(3} Initial burden {4) Absolutely

uw PR W T wred 7

(1) I 1 I’ (2) T @ (3) WEF R (4) omeaf<® ¥ R

In law a man is presumed to be dead if he is not heard of as alive for

(1) 5 years {2) 10 years (3} 7 years {4} 8 years
fofa & o fet =afs A ya 33 R s } R 33 i ol g2 o @
(1) s=f @ (2) 10 3§ @ 3) 7= | 4 8¢

A husband is obliged to maintain his divorced wife

(1} throughout her life {2) 25 years

{3) 10 years - (4) till she gets remarried

o ofy o sy uelt F wto-dive ¥g ana @

(1) 38 S o (2) 25 of T

(3) 10 34 a= (4) ¥® & I [Eaw T = ad
2
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Which is the highest Criminal Court in a District?

(1) Sessions Court {2} District Court
(3} Chief Judicial Magistrate (4) District Judge
& e § wafa aaoRe mEes 99— 27

(1) & Hed 2) fren =rEs

(3) 7= s s (@) fren =mandm

A man commits the offence of adultery if he has sexual intercourse with
(1) ex-wife ' {2) minor girl

(3) wife of another man ' {4) None of the above

@ frafa o swad w1 oa @ R R 3 Ay wa@ R

(1) @ o=h & @ (2) ETE=F aFh ¥ A

(3) ot org qew i ueh & @™ (4) 3= ¥ & =

Sometimes a person himself does not commit an offence. He helps or aids another

person. He is then guilty of

{1) abetment (2} conspiracy {3) attempt (4) preparation

Fh-afl vF aafe w=F omow T T W T AR N g T wREW w@ 2 T a7 i R

(1) g F (2) WU # (3) W= = (4) Tl =

Copyright subsists after the death of the author for
(1) 50 years {2) 25 years {3) 30 years (4) 60 years
ifernfuer das f 7 & o It § wa R

(1) 50 a9 = (2) 25 a6 aF {3) 30 @&l @ (4) 60 =& =

(P.T.0.)
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10.

11.

12.

13.

(337)

The National Law School at Bangalore was established in

{1) 1985 {2) 1986 : (3) 1988 (4) 1987
el § vea of e & A g oA

(1) 1985 # (2) 1986 # (3) 1988 # (4) 1987 #

A borrows money from B and gives some land as security for payment of the debt. The
arrangement is called

(1} pledge (2} hypothecation
(3) hire-purchase (4} mortgage

ATO W B A IUN A R qU WO F HYW ¥ TS 4y vRaft & w F waw R) @ sgewen
H FF D

(1) P (2) HTEHH (3) WrE-%3 (4) TS

If a withess makes a statement in the Court, knowing it to be false, he commits the
offence of

(1) forgery (2) sedition (3) perjury (4} mistake

afg # wahl =maew § W Fuw T g B aw gu 2, W ?, @ Sy awow s @

(1) Fe=T H. 2) TER # (3) wwy-vm 4 w=

In which of the following countries death sentence is awarded in the case of rape?
(1) China (2) USA {3) UK (4) Australia
Frafafgs 3 & foq 3w & somer & awed § g B o § IR R0

(1) == (2) FouHoTo (3) oo 4) AR

A law made by an Act of Parliament is called

(1} Rules (2) Acts (3) Notification (4} Statute



14.

15.

i6.

17.

(337)

gae w B wim g v 8§ v 9@ 27

(1} P (2) oruiiam

Assault and nuisance are

(1) offence under Criminal Law
(3} not wrong under neither
FACN W@ ITaN 2

(1} arrrfus Jfg F oo

3) 23 5 3 Rl 3 o S

The Oldest High Court in India is in
(1) Delhi (2) Mumbai
T F gEd QW IR EE

(1) fdt & (@) gt d

Dower (Mehar) is dealt in
(1} Hindu Law |

{3} Christian Law

i A i B 2

(1) feg fafar &

(3) frfrem fafy #

12U/103/28 Set No. 1

(3) sfegEm (4) wfafh

{2} offence under tort

{4) wrong under both

(2) swgpw fafy 3 e

{4) a9 % 3
{3) Allahabad {4} Kolkata
{3) YongaTe H (4) Hiemar o

(2) Muslim Law

{4) Parsee Law

(2) ufem ffa o
4 wret f3fn &

A constitutional bench of the Supreme Court consists of at least

{1) 3 Judges (2) S Judges

(3} 6 Judges {4} 7 Judges

(P.T.0.)
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18.

19.

20.

(337)

Ioan A % gifawtie ds § =@ 8§

(1) 3 =mardw (2) 5 =TS (3) 6 =mardiw (4) 7 =manfm
Which of the following is not a Central Government Tax?
{l) Custorn Duty (2) Land Revenue
(3) Income Tax (4} Excise Duty
frafafgs & 3 9 ¥ g = o 22
(1) ¥ e (2) e (3) IR (4) IO ek
X and Y agree to commit theft in Z’s house, but theft is not actually committed. They
are guilty of
{1) no offence {2) abetment by conspiracy
(3) abetment by instigation {4) criminal conspiracy
AT I ZF AT IR wT £ Fewa &1 &, Fog arad & aied T¢f #7 ) & atet §
(1) faeft amay & = (2) wsEA F g g
(3) IwuTEE F T W (4) Il wgEx
Which High Court has the highest number of benches in India?

(1) Allahabad High Court {2) Punjab and Haryana High Court

(3) Mumbai High Court (4) Guwahati High Court
o # R 3= AEen f weifte sen 3 A3 3

(1) IoRER 39 AR (2) w9 wd ghamn 3= AEeE

(3) =R I= A (4) Tagd 3= Ay



21.

22.

23.

24.
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Where is the National Judicial Academy located?

(1) Mumbai (2) Bhopal (3} Kolkata (4) Delhi
e gitfive swrgft vt @ 27
(1) et (2) s (3) SR 4) g

The High Court of a State is under the direct supervision of
{1) Governor (2) President
{3) Parliament (4) Supreme Court

T F FA A W wagw ¥ e 2
(1) T & 2) o &
(3) W& % (4} I=E FAEE F

Legal Education in India is controlled by

{1} Supreme Court (2) Bar Council of India

(3} Bar Federation of India (4] Ministry of Law and Justice
wr@ § e fan fafia @@ 2

(1) J=4aN <RRA TR (2} wwdlg Rt wiwg g

(3) g fafm &9 g (4) faft v@ =y e g

How many High Courts are there in India?
ra § 3| e #7

{1} 28 {2) 25 {3) 2% _ 4 22

(P.T.0.)
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25. Which of the following is not a Fundamental Right?

(1) Right to Freedom ' {2) Right of Equality

{3} Right to Property {4) Right to Constitutional Remedy
Frafafas & 3§ Fr-m hive e W 47

(1} =R = IfEn (2) TwAa & frEr

(3} @l @ R (4) wAutrr IR B ARFR

26. Besides its permanent seat in Delhi, the Supreme Court can also meet at
(1) any other Union Territory
{2) any other place as decided by the Chief Justice in consultation with the President
(3) any other major city
{4) any other metropolitan city
o % o ol 'y @ Al @ & fihe s=an e afufyn © da
(1) frdt om g A
{2) ﬁ_mmﬁﬂw%mw,umﬁmﬁmaﬁmﬁ
(3) &Rt g Tw |
(4) Fedt o= wemm |
27. The Supreme Court of India decides the disputes regarding the election: of
{1} the President and Vice-President {2} the Speaker and Deputy Speaker
(3) the Prime Minister (4) All of the above
fafas o) fyare swan meg feffa F@r 2
(1) wgefy wa augafy = (2) 3y wF IUTHY H
(3) T 4) 3w ¥ @ o =

(337) ' 8
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29.

30.

31.
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A judge of the Supreme Court retires at the age of

{1} 65 years {2} 62 years (3) 60 years (4) 68 years
I e W e @ Pew @ 2

(1} 65 af & amg w 2) 62 ™ § 3y W

(3) 60 T A IY W {4) 68 T # I W

A judge of a High Court retires at the age of

(1) S8 years (2} 65 years (3) 62 years (4) 60 years
3| aed & A Jw fraa da R

(1) 58 af 1 3y W (2) 65 ad A IW W

(3) 62 I H IY W {4) 60 I # Y W

A Judge of the Supreme Court can be removed from office only on the ground of
(1) “senility {(2) proven misbehaviour or incapacity
{3) imbecile conduct | 4) groés-inefﬁciency

AN AT H A @/ g W aEa @ He|

(1} e & FRO AT sFmddl F IR |

(2) wifad FeEr T sERf@ F FWR W

(3) dicamm F amur W

(4) HR e ¥ SR W

'If the Parliament passes a law, which is against the Constitution, it can be declared as

unconstitutional by
(1} District Court {2} Chief Justice of India

(3) President {4) Supreme Court

9 (P.T.O)
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33.

33.

(337)

If dag w1t @ faftr ol w=ar 2 & W@Rum & fasg 2, @ @ swdufls @ifdg e wn
THaT 8

(1) frem =mnaa @ 2) 9T ¥ = AW gm
(3) ugefy g (4) I=OW AAAY R

The minimum number of Judges to sit on the constitutional bench or a bench which
gives its advisory opinion on a reference by the President must be

{1} one-third of the total strength of the Caurt
2} 3
@ 7
@4 5

st fz @ B G5 R T gR Rdw AR S W waEwd 70 w2, % swwta =g
S G

(1) e § Janfe ) -l @ 3

3 7 (4} S

The main sources of law in India are

{1} the Constitution (2) statutes
(3} customary law (4} judicial decisions of superior courts
ura ¥ fRifa ¥ e @ #
(1) sfem (2) iRt
(3) wama Rfy (4) afm A ¥ e fivk
10
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34. A retired Judge of a High Court cannot
{1} practice in any Court in India
(2) practice in the High Court from where he has retired
{3) practice in any High Court in India
(4) practice in the Supreme Court
= e W datige amrdn Afy-seew 78 = wwa R
(1) W@ ¥ o e i
(2) 36 ¥= e # Wl # 3% Y@fge gon §
(3) ya ¥ &f T TmEm o

(4) I=m ey #

35. Law Day is observed in
(1) 25th November (2) 26th November
(3) 9th November (4) 6th October
fafy Rmw s amm R

{1} 25 vo=R R 2) 26 7@=R {3) 9 TR + {4) 6 W N

36. Who decides disputes regarding the election of Vice-President?
(1) Supreme Court (2) The Parliament
{3) The President {4} The Speaker
-l ¥ Fates gerdl faet @ el 7 @ 22

(1) J=@9 AM@E (2) §EE (3) umyfa CYRE

(337) 11 (P.T.0.)
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37. A person whose guardian is appointed during his minority becomes major at the age of

{1} 31 years {2) 28 years {3) 21 years i) 18 years
w wfs R sawr ¥ A v & Pgfs @ o ?, R ong W FaEs @ R?
(1) 31 af (2) 28 af @) 21 T (4) 18 T

38. A transfers Rs 10,000 to his niece, if she will desert her husband. The transfer is

{1) not void (2) void {3) wvalid (4) voidable

A At wdRh W 10,000 T F W@ =@ R W I7 W of @ abwm = h
o R

(1) 7= & 2) 43 (3) 3w {4) i

39. A transfer made directly to an unborn person is

(1} not voidable (2} valid (3) not valid (4} voidable

Pl ot =afe @ dar fRn T aRer 2

(1) qREfg T 2) g (3) du & (4) YRR
40. Which one of the following is not a transfer of property?

(1) will (2) Gift (3) Exchange  (4) Sale

o % A F wufan = oW 9 27

(1) = 2 ™ (@ Rafm (4) fawd

41. if the donee dies before the acceptance of the gift, the gift is

{1} not void {2) void {3) wvalid (4) voidable
ofe 79 % wlamgw & qd angrer f ey & S }, @ I R
(1} I3 == 2) = (3) 3w (3} FESE

(337) 12
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In a bailable offerice, the bail is granted as a matter of right
{1} by the Police Officer and the Court

(2] by the Court

(3} by the Police Officer

(4] either (1} or (3}

S aTony A SEma AfuaR e fem s @

(1) gfam vt @ =meE (2) < R

(3) gfew afererlt gra @) ()@ 3) % o

The maximum monthly maintenance allowance that can be granted is
{1) Rs 1,500

(2} Rs 1,000

(3) Rs 3,000

(4} according to the discretion of the Court

A TR wo-few 9 R o @ 2, w8 2

(1) 1,500 %o (2) 1,000 %o

{3) 5,000 %o (4) =arer % frEwman

An act or omission made punishable by any law for the time being is called

(1) wrong (2) offence (3) criminal case (4] charge

R wd A R} [N fak oo R ) T oosda R, W s R
(1) 3w (2) Y (3} sl Ament (4) IR

13

(P.T.0.)
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45.

460

47.

(337)

A woman ran to a well stating that she would jump in it, but she was caught before she
could reach it. She is guilty of

{1) attempt to culpable homicide {2) attempt to injure himself

{3} attempt to suicide {4} no offence

% e e kEd g F R R PR 5 | 3w g wh, Wy I T W T 93
oft wfty 37 At R

(1) TN AFRE 39 F W H (2) Td ® gfa wha O F g =@
(3) IeEEn F WIW W (4) = soug I8

Seven persons on a railway platform started fighting with each other. The passengers
present got annoyed and felt disturbed. These seven persons are guilty of

(1) assault ' {2) aifray

(3] rioting {4) unlawful assembly

ga Jie T ST W -3 ¥ As PR W QP A oS¢ wdwm weh g @ w aw
QI WM FE AV q@ TR A4he G ooy F A E2

(1) &maw {2) ©m

(3) s (4) fafu foeg o

A for the purpose of inducing B to desist from prosecuting a civil case, threatens to
burn B’s house. A is guilty of

{1} criminal intimidation {2) abetment

(3} breach of peace {4) assault

AT fifad ag 9em A Mm@ 1 [ I R WAfe F@ F RW Y B F wEE N J@H A
urhl e R A qreft R

(1) smfys wfimE & (2) gh@ =
(3} WA WM | (4) T H

14
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48. The offence of theft is related to

{1} moveable and immovable property {2} immgovable property only

(3) moveable property only | (4) All of these

o w1 vy TEfiw 2

(1) 3™ wd T Fwfhal & (2) Faw W yta @
(3) Faa W AR @ (4) I |

49. A instigates B to murder D. B refuses to do so. What offenice is A guilty of?

{1) Abetment (2] No offence {3} Murder {4j] Conspiracy

A DR 5 a3 BH 350 R B W w3 ¥ ¥R W <@ ) A fem a0y qg
adt 27

(1) g (2) ®Y Fww o (3) Ew (4) s

50. Robbery becomes daceity when coﬁmitted by
{1) at least ten persons
{2} five or more persons
(3) more than two but less than five persons
(4} two persons
oz S @ e @ AR w@ e § B
(1) =R @ =fed & (2) uiw T aftes =fwal F
3) 2T s wg Uw QA AR F (4) @ fEd *

(337) 15 | (P.T.C
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51.

52.

53.

54.

(337)

Murder is punishable with
(1} imprisonment for 14 years
(2) death or imprisonment for life

{3) imprisonment for life or imprisonment for 14 years

{4) death

T e R

(1} 14 9€ N FHOAW {2) g A AR HEE
(3) arsfiad swaE W 14 a8 HwEaw (4) TG

A proposal when accepted becomes
{1) offer {2) contract (3) promise (4} agreement

TETET e WeR Wl AR R, @ | ot R

(1) ST (21 @i (3) F= (4) WE

When the consent of a party to a contract has been obtained by undue influence, fraud
or misrepresentation, the contract is

(1) legal (2) voidable (3) void (4] enforceable

afy et dfen & oger f RNl o o, FWE W gEWYM @ YW # W R, A oA
afer @t 2

(1) 3w (2) YR (3) I (4) vEd

Who among the following is not appointed by the President?
{1} Attormey-General (2} Advocate General

(3) Chuef Justice of India {4} Chief Election Commissioner

16
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P % % W g ¥ g P T R w37
(1) TeraEETR) (2) AR
(3) WG w1 TEE (4) e Pt smge

55. Elections to fill up one-third seats of Rajya Sabha are held

(1) every year {2) once in two years
(3) once in five years (4) once in six years
T § w-faed O w @ ¥g Pt @ @

(1) wfe = (2) 2 adt & us Ww
(3) dia a1 ¥ UF 9R (4) ®: 3w d u aqn

56. The power to grant pardon to persons convicted of an offence is vested in

{1) President and Governor (2) Parliament

{3) Union Law Minister (4) Attorney-General
fagam semd MU fah =t w e wem w ) of fifka 2

(1) TRl wa Toawe | {2) W& ¥

(3) g eht & (4) TETEaEd &

57. A has a general merchandise shop which is doing well. B opens a similar shop nearby
and sells the products at a cheaper rate. The customers now came to B’s shop instead
of A’s shop, who consequently suffers loss. Can A claim damages from B for the loss
caused to him? .

(1) Yes, he can, as B has violated his legal right
{2) No, B has reduced the price on his own
(3) No, because though there was damage, there was no legal injury

(4) Yes, because B’s intention was to harm A

(337) 17
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58.

59.

(337)

A B R @FR TN A @@ R BT F R AW A gEE P R o
TR TR W W IRy daw F IEF A R A F s B H A W oW @ ¥R
JROTTREET A H (EEE B ¥ W A A jHER 3 R B @ &R w1 3 s e 27

(1) &, 38 % wea & ®ifF B 1 @S e sfyen = e fmn 2
(2) <&, ®=f B Y a9 3 yra #u fear 2

(3) @I, wifs wufy gwam gon 2, #rf fafus afa & &5 R

(4) =, #ife B & T A N JHEE TGAE 0

What is the meaning of the word ‘battery’?
{1} Cells, as used in a torch

{2) Battering a person to death

{3} Actual or intended striking another person
{4} Assault

‘¥l W falier aread = 27

(1) o9 4 v i 97 aeh g

(2) & =i | frem IR e

(3} Tordlt =afwe o aredfas a1 srfisra smrd

(4) TN

The word ‘vice-versa’ means

{1} refer to (2] conversely {3} against (4} truth
‘FRa-gal’ e # awed @
(1) By =t 2) foula sv @ (3) faeg (4) FEmN

18
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The President of India is elected for
(1) 4 years {2) 6 years {3) 5 years {4) 7 years
R 1 Uyafa fatfa dar @

(1) 4 =81 % f92 (2) 6 Tt & f& (3) 5 st ¥ o 4) 7 T % f

A along with eight others went to a nearby village to beat some of his enemies. In this
fight A was injured. The men bers of the opposite party ran away. Thereafter A’s friends
followed the opponents and killed one of them

(1) A and his friends are liable to be. punished for murder
(2) only A is liable, others are liable for minor offences only
{3) no one is hable since they exercised the right of private defence

(4) A and his friends are liable for culpable homicide only

AT e i s wIa iR g R A F TR R m e § A W
e ot B vg ¥ oo 9w W TF 92 A ¥ afEt 3 ) = drer fear qen @ @
T& Hl 97 el

(1) A a9 3G% geft gen ¥q 2fed &9 arg 2

(2) Faa A folign R, a0 Faa SR ot &g fier @
(3) =g fier df } wiifs 21 yrde fran & W@ fen
(4) A @ 3TF weft Fa@ wQAW T Iy g FoEr @

A false doctor operated upon a man for internal piles by cutting them out with an
ocrdinary knife. The man died of haemorrhage

{1) doctor is guilty of murder
{2} doctor is not guiity
{3) doctor is guilty of culpable homicide not amounting to murder

(4) doctor is guilty of impersonation only

19 (P.T.0.)
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T FE) STE G W ¥ UE Al % el wavd W ofTqve 3R wlea amt
R} ongfl THEE B wRe WA R

{1) ¥ gan H A R

(2) ez 3 74 2

(3) SR gen & w2 § 7 WY AT WEW AW T3y w7 ot ?
(4) sTFR Faa wisyn w2

A finds a diamond ring, not knowing to whom it belongs. He sells it immediately to a
jeweller

{1) he is guilty of criminal misappropriation

{2) he is not guilty of criminal misappropriation

(3} he is guilty of cheating

{4} he is guilty of theft

AT R R I T R, w A T B2k P 3w T R wE el @ Aw ¥ 2
(1) =8 smwiftrs gffEm w9 @

(2) = st gfifrm = edh o 2

(3) o8 B % T B

(4) 3 A0 =1 It ¢

A mixes sugar, thinking it was poison in the tea meant for B with the intention of
causing his death. What, offence, if any, has been committed by A ?

() A is not liable for any offence
(2} A is liable for attempt to murder
{3] A is guilty of criminal conspiracy

{4) A is guilty of bad intention

20
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A B & 7g F@ @ & W } IEH 99 A I @WHd g¢ 9+ emn @ 4 3w
Ay, A wE R, o 27

(1) A fohi smow &g foder =8 R
2) AT & W@ gg SaAER 2
(3) A quftes sgg w1 o
4) AR o™ F1 At A

X, a Police Officer, tortures Y, to tell him where the stolen property is kept by him. Has
X committed any offence?

{1) X is not liable since he is discharging his duty

(2) X is liable since custodial torture is not a part of his duty

(3} X is not liable since the torture was to extract confession

(4) X is not liable since Y is a habitual thief

X, & g ot o8 s & fR % 3o =t it ™ goofs w7 @ R Y F g 2@ #)
X X W eouy fEm R

(1) x Gmer 78 ¢ Fif% a8 Faa s w=a F1 Fafe = wr 2

(2) x foer ¢ F9ifs sifiwen #§ aem 39 393 Fedem o wier & 2

(3) x fwien 78 2 Fifs g aehsh &3 ¥3g @ ™ 2

(4) x foier 7f ¢ wifs v smafis = @

A was suffering from Jaundice and inflamation of brain and B knew this condition. One
day during a heated argument between them A slapped B in anger. B lost his control

and dealt a severe blow on A’s head. A died. The police sought to prosecute B for
murder

(1) B was liable for murder because he knew of A’s delicate condition
{2) B was not liable as he acted in self-defence

(3) B was not liable for murder because he did not intent to kill A

(4) B was not liable for murder because he acted under grave and sudden provocation

21 (P.T.0.)
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67.

68.
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A ffe vd wftess o= 8 ffss o1, B 3@ Sy & Ir@ 9 & 3 ™ 3w F dww A3
w3 B A awg An frm B wwn feimo ot A am A % fm 9 9@ @ mRy A WO
gfere 3 B &) g & g afrlifm s @

(1) B 7 ¥ ¥ fomen o wifs ag A € 9% swww B 9@ 0

(2} B Fdter = o 76ifs 399 srowen d & R

(3) B &= & Rl e o o wifs a8 A B 9 8 9nd H ey @ @ o
4) B g0 ¥ R A9 5@ @1 wifs 3o o ok swfes i § wd

Mahendra, a rich industrialist buys a plot of land in the name of his concubine. 1s
Mahendra liable for punishiment?

{1} No, he has not broken any law

{2} Yes, because he has entered into a Benami transaction

(3] Yes, because the exception of law does not apply in his case
(4) Both (2} and (3)

weg, ot Al e @9 ¥ T A 9qft W rww wiew o O e % AR
fomiem &°

(1) T8, 3g7 fedt RBfy 5 9l e 2

(2) ¥, ®ift% 3 w& SAnf gemaer B g

(3 @, Fifw so% ww & A & v w T de
(4) (2) @& (3) A

Krishna went to Rama Store to buy bread. On being asked to give him good bread, the
shopkeeper recommended ‘Modern Bread' as that brand was popular. When Krishna
was eating the bread a stone embedded in it broke his teeth. Krishna sued both Rama
Store and Modern Bread for compensation

{1} Modern Bread alone will be liable {2) Rama Store alone will be liable

{3} both are liable {4) None are liable

22
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F TN R W 33 Tl w1 ot d3 A W gEEER A 3@ A 3’ f wemw & wifw
g T AT §Ig O G FWT FS G @ W, Iqk IR T UF HHS § IFH qd 2 M
F A TN WK qA AiS 95 qH F faeg wfm{d kg T =

(1) o Bigd 3 fpdgr @m (2) Faw M @R R |m
(3) ol forrer € (4} =r§ fomer 48 2

Mohan was walking on a lonely road. Babu came with a knife and told Mohan “Your life
or your purse”. Mohan pulled out his revolver. On seeing it Babu ran and Mohan shot
him in the leg

(1) Mohan will not be punished as there was danger to his property

(2) Mohan will not be punished as the force he used was proportionate to the
apprehended injury

(3) Mohan will be punished as the force employed was disproportionate to the
apprehended injury

([4) as Babu ran to escape there was no longer a threat to Mohan’s property. So Mohan
will be punished

W@iﬁmmmmmwa@@a@%mwaﬂt%aw“maﬁmm
FTN SZAL| A ¥ e faew fremn B g avg 9rn AW AR 3 9% 3§ med AR
4 o

(1) Wea = 2R & fen wm@m w=HifF I9h afy 9 @aw W
(2} mﬁaﬁﬁ#ﬁmmﬁ%aﬁwmﬁmaﬁmﬁmaﬁ%mﬁam
{3) W W fee frm T A aw W W s 4 5 sefe 9@

@ HfF v w9 F R om @ w, A d et 2 osm @ w1 oan sehw B @
gfogy forar s@m

23 (P.T.0.)
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Ajai and Bunty are neighbours in the same colony. Bunty started typing classes in a
part of his house and the typing sound disturbed Ajat who could not put up with any
kind of continuous noise

(1} Bunty is liable, because he should not have started typing classes in his house
(2} Bunty is liable, because as a neighbour, he should realise Ajai’s delicate nature

(3) Bunty is not liable, because the typing sound did not disturb other neighbours
except Ajai

{4) Bunty should have been more considerate

IF U T v A wedt A @ 9 dA R W W F UE W B TEA & FaE Wy 6
0 T f i o B N w6 ol St B oft yer F e TR A a8 W gwa
oy

(1) ¥ frdan ¥ w6 W I 7HE § Taw R FE TE wod w1 AR o

@) & R 2 w0 W F M W oW F NgE = R @ = o

3) J& foder 7 2 wifs T T IR g F o g R B Awm FF w @
4y F& N A am @ Al W

A is twice as good workmen as B, and together they finish a work in 14 days. In how
many days can it be done by A alone?

(1) 21 days (2) 42 days (3) 23 days (4} 23 days

A B A T e FHFR 0 M F FE H 14 A A www w@ f A F g ke 3|
w8 F fFa fo & fen s @ @7

(1) 21 f&= 2 42 &= 3) 23 f&@ (4) 25 fe5
Ram and Shyam work on a job together and finish 60% of it. Ram takes leave and

Shyam works for eight more days to complete the work. How long will Ram take to
complete the entire job alone?

{1} © days : {2) 8 days (3) 10 days {4) 11 days

24
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oy 3 W Rt 7 W oF @ w@ € 9u 3T 60% FEH F 34 E) TH gE W T S|
2 ol wm 8 T ow AR wW w30 @ R A B TW 3@ @ wR A ook fea e
¥ QU & FFA 87

(1) 6 fa (2) 8 f& (3) 10 f= (4) 11 f&

The smallest number which is divided by 9, 12 and 16, each time 5 remains. The
number is

B D A T B 9, 12 99T 16 ¥ WM ¥ W NI S5 AN =& Bt 9B & R

(1) 149 (2) 144 (3) 197 (4) 113

15 men can do a work in 20 days. If there are 25 men, how many days will it take to
complete the work?

15 sedhl fardt wrd @ 20 foot 4 qu @ ¥ 3 25 onwfi & F & F@ €, @ e
d qu w7

{1) 20 (2) 15 (3) 12 (4) 35

1 kilogram =

{1) 1000 milligrams (2) 100 milligrams

{3) 1000 grams (4) 10 centigrams

1 fraimm =

(1) 1000 fyefm  (2) 100 faefiom (3) 1000 Im™ (4) 10 ¥dum

Which of the following is absolutely essential for a house?

(1} Bricks . {2} Concrete (3) Roof {4) Locks
TR 7 B X @ T oafe omavs 7
(1) % (2) Fhi (3) =4 (4) T

25 (P.T.0.)
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Which of the following is related to ‘Camel’ in the same way as ‘Sea’is related to ‘Ship’ ?

(1) Mammal (2) Horse {3) Oasis (4) Desert
fm d @ I AR A wafum 2 I vy e A
(1) wurd (2) =Y (3) WEIH (4) =m

The approximate intensity of sound which can cause damage to the eardrum is

eafs i fiheqn diga N &9 F 96 R A T I 2, 6 2

(I) 20 dB (2) 60 dB {3) 100 dB {4) 160 dB

A man is standing on a weighing machine in a lift which is moving. The weighing
machine will show minimum reading when the lift is moving

(1) upwards with uniform speed

(2) downwards with uniform speed

(3) upwards with uniform acceleration

(4) in a free fall due to the failure of lift mechanism

& s T der arelt mei w W e A wa @ 2, @ 3 deR Il o SEem um
fegrft s fawe = @ 2

(1) R i 3R g g F
(2) = & N wmw 7G|
{3) W A AR g9F =
(4) fow o1 @ @ 9H F w0 AR wed w9 A fRow A

A slow running pendulum clock can be speeded up by
(1} increasing the length of the rod

(2} increasing the weight of the bob

(3) reducing the length of the bob

(4] reducing the weight of the bob

26
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w i 99 @ Igem 9@ f wrE Ferh st a2

(1) g & Tw=g TG (2) =9 1 I TG

(3) &g 6 TR (4) a9 F W FITH

Prabhat is as much heavier than Jatin as he is lighter than Umesh. If the total weight

of Umesh and Jatin is 140 kg, what is the weight of Prabhat?

o a9 TRE | A & e @ few 9w o sw @ w3k st W@ Ife w3
I 140 kg ®, @ WWIG 1 a9 R 87

(1) 140 kg (2) 120 kg (3) 160 kg (4) 90 kg

In a fort there is provision for feeding 150 men for 45 days. After 10 days 25 men leave
the fort. The remaining feed will last for
(1) 42 days {2) 54 days (3) 48 days (4) 50 days

w B ¥ 150 sngftdl ¥ 45 Rl w% fawn & amht 1 @ fF oaw 25 @ fEen o <9
HEL R scles

(1) 42 f& (2) 54 f= (3) 48 fA (4) 50 f&a

Among five friends A is heavier than B. C is lighter than D. B is lighter than D but
heavier than E. Who among them is the heaviest?

(hH C 2 A (3) D (4) Data inadequate

e T AN TEBAMEACH AT DA RUB T IH DR TR W E
3 w21 I umd afts oo formem 27

(1) C = (2) A (3) D& (4) BRI A9

The average weight of 5 men is 67°5 kg, and the average weight is diminished by 75 kg,
when the weight of a boy is included. What is the weight of the boy?

'ﬁa-amfﬂu‘imaﬁaaam67-5kg%,amqaag%aﬁmﬁa%amﬁmaﬂmm7-5kg

U2 WA R TEH H g9 w1 27

(1) 22'5 kg (2) 30 kg (3} 25 kg (4) 20 kg

27 (P.T.0.)
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Which of the following countries tops in arms sale?

(1) UK (2) China (3) USA

Tram & fara f i 29 @ @ ®R-@ W 3| W W R7

(1) oo 2) =\ (3) qoTHoTo
Jinnah : India Partition Independence is a book written by
{1} Yaswant Sinha {2) L. K. Advani
(3) Jaswant Singh (4) Arun Jaitely
forar ;s offem afddse frmam foeht @

(1) e fomr A (2} TWo Fo Ifegamft I
(3) w@a= & 2 (4) Em AR 3
President Pratibha Patil was the First Woman Governor of
(1] Gujarat (2] Rajasthan (3} Maharashtra
upafa wlesn wifewr g wfie T of

(1) ToRE 6 (2) UsRUW i @3) "Iy H

Who is the Deputy Speaker of Lok Sabha?
(1) Rahman Khan (2}
{(3) M. H. Ansari (@)
TABINT T IWEH FA R ?

(1) @A {2)

(3) Wo To = (4)

28

Karia Munda

Sushma Swaraj

FiEn que

guHT &

{4} Israel

{4) ToREA

{4) Orissa

(4) I R
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Maitree Express connects India with

{1) Pakistan (2) Bangladesh {3) Nepal (4Y Bhutan
= wEE wE R Aedt 2
(1) wifrsm @ (2) T=RY ¥ (3) A9 | (4) 2T @

~ Which country’s Cabinet held the world’s first underwater meeting to highlight the

dangers of global warming?

(1) Maldives {2) New Zealand (3) Canada (4) Thailand

fg 2w Ht Bz A = Tt F @ H AR oaEdw @ F PR wuw swata dfifin @
oft?

(1) TEE (2) =it (3) FAT (4) UEAUS

“Which country’s Supreme Court upheld the capital punishment of the accused persons

who assassinated the father of the nation, 34 years after the incident?
(1) Pakistan {2) Nepal (3) Bangladesh {4) Sri Lanka

frm 2w % wdt= = 3 TEm A e & ol afige % qeqres Y gfe wew % 34 A
w7

(1) fEREaT (2) 9 (3) smTERE (4) HEw

Anti-Tobacco Day is observed in India on which of the following days?
{1) llth April (2] l1th May (3) 11th June 4) 31st May
frafafigs § wha-w 9 v & Ty fllg Reg & w9 & W s g7

(1) 11 1= (2 11 =8 (3) 11 @ (4) 31 =3

29 (P.T.0.)
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Which of the following airports was named as Chaudhary Charan Singh Airport?

(1} Mumbai Airport (2) Lucknow Airport

(3} Dehradun Airport (4) Allahabad Airport

Frferfan & & S-m T ot Ned o g T v ¥ AW @ qEAE B T
(1) g8 g orEr (2) TGTH T T

(3) WA TS I (4) TEEER TEE AE

First Indian Private Airline to start flights to China is

{1) Jet Airways (2) Indigo (3) Spice Jet (4) Kingfisher
1 F Rl IR E FA Tl TUW g TRAT waendd 2
(1) 2 vaEsw (2) 3foem (3} wEW W (4) fonfem

Where is the headquarters of NATO located?

(1} Amsterdam (2} Brussels (3) Paris (4) New York
TR F qEERE e 27
(1) FTeH (2) q@EH (3) ¥w @) g

‘Octopus’ is an anti-terror agency formed by

(1) Karnataka {2) Maharashtra (3] Bihar {4} Andhra Pradesh
‘eve’ aras-fd wfywe w9 T R
(1} == g {2) werog gr@ (3) fam zm (4) NYUTEH Zr

30
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97. In India the maximum number of newspapers are there in the State of

(1} Kerala (2) Uttar Pradesh
(3) Karnataka (4} Delhi

i % B T=r § e w6 A gaffos qen @7

(1) ¥w@ = (2) Iw wew # (3) FAtew & 4) fegt &

98. The former cricketer who launched a foundation for humanitarian cause in India is

(1) Steve Waugh (2) Bran Lara

{3) Wasim Akram {4) Vivian Richards

yRa ¥ AFE R¥E g G dEe FE I e ke Reand R

(1) 2= af (2) FE7 @1 (3) =@ =W 4) Ffem ferda

99, Which of the following has been declared as the first {only) smoke-free city in India?

(1} Cochin (2) Calicut (3! Mysore {4) Chandigarh
A4 @ fem wE @ e g Wea e A e w20
(1) FREA (2) wrefiEe (3) g @) =vdg

100. Who among the following is the first woman Speaker of Lok Sabha?

(1) Vijaylakshmi Pandit (21 Meera Kumar

(3) Girija Vyas (4) Sucheta Kripalani

frm % @ 3 T 6 qun afgen Wwan oy R0

(1) fosmaedt affga (2) fiu Fum (3) fifen =ma (4) TR FIEER

(337) 31 (P.T.0.)
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The name of Djokovic is associated with which game?

{1) Football (2} Tennis (3) Golf {4} Hockey
IHIfaE W am R we | Fgor §?
(1) peata (2) M (@) M @) TR

The tennis star Maria Sharapova belongs to which country?

(1) Russia (2) Serbia

(3} Czechoslovakia (4) France

o = aifen o e 2w fR R0

(1) =9 {2) wfdm (3) TRTAENTER 4) ®W

In World Badminton Saina Nehwal is ranked
(1} third (21 second {3} fourth {4) fifth
FE Aefies § B3 Igae = o 2

(1) d@a (2) 3&w (3) e (4) ui=a

The name of Andy Murray is associated with which game?

(1} Football {2} Tennis {3) Hockey (4) Squash
T W F Am fRE @9 @ g 27
(1) Peaist (2) = (3) T (4) @&m

Lionel Messi, the great footballer belongs to which country?

{1} Brazil (2} Portugal (3) Argentina (4) Spain
A Jdl, WE Pedie faerd fw twm @ 2
(1) STt @) T (3) A (@) w3
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2012 Olympics is to be held in

(1) Bragzil (2} England {3) Germany 4
WMAs 2012 T ™A 84 2
(1) wefter o (2) Trevg # (3) ot & (4)

Serena Williams, the tennis star, belongs to which country?

(1) USA (2) UK {3} Switzerland (4)
V0T fferrm, 2P wr, fe e @ R0
(1) FoTHeTo (2} FoFo (3) fergsretvs (4)

The name of Mohammad Ali is associated with which game?
(1) Hockey (2) Cricket (31 Football {4)
W el W T R d@e R g9 R7

(1) gh (2) fFde (3) Pt (4)

The hockey legend, Dhyan Chand belonged to

(1) Jhansi (2) Meerut (3) Delhi @)
TH & gylag faedt wm a9t @ a= 2
(1) e & (2) WS F (3) &t & (4)
Which player won the Wimbledon Title in 2011 ?
(1) Raphael Nadal (2) Roger Frederer
(3) Novak Djokovic (4} Andy Murray
2011 ¥4 fraegd faaw oo faardt 1 fm?
(1) THAW TeTd (2) IR FTW
(3) NF SFRE @) wd R

33

Japan

France

Boxing

Lakore

TER &
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111. The First Indian Talkie Movie was
(1) Jahanara (2} Alam-ara (3) Aag (4} Khayal

WG W WA Se aiet gatad o

(1) w&m (2) e~ (3) 4} =

112. Shiv Kumar Sharma is well-known for his performance in

{1) Flute (2) Piano {3) Sitar (4) Santoor
frm v i oW s Al Fen ¥ o
(1) sigd & (2) fam o (3) framr 3 (4) T A

113. India is a member of the United Nations since
(1)_ 1961 (2) 1950 {3) 1948 {4) 1945
YRA % T H T R}

(1) 1961 ® {2) 1950 B (3) 1948 & (4) 1955 &

114, Human Rights Day is observed on
{1} 26th November (2) 14th February
{3} 10th December {4) 24th February
TrafuER feam 7w s R

(1) 26 =T (2} 14 =& = [3) 10 Rw=R = (4) 24 W F

115. The present Secretary-General of United Nations is
(1) Condeleeza Rice {2) Ban Ki Moon

(3] Kaft Annan {4} Shashi Tharoor

(337) ' 34
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TY® B & FIE AFH-IRe 3
(1) Flogrefisn T8 (2) o 6 4 (3) FE FH (4) T o=

116. In which country the Committee which selects winners for Nobel Prize is located?

(1) Denmark (2) Finland (3) Sweden (4) Norway
afufe N Naw qoER ot gra w1 TR w1 R, Fo owm d Be 22
(1) (2) ferdve (3) A (4)

117. Introduction of no-confidence motion in the Lok Sabha requires the support of at least
(1} 30 members (2) 60 members (3) 50 members (4) 100 members
e § sfawew v @ 3w w9 g Han andq R sEwsa @ 2

(1) 30 we= (2) 60 T (3} 50 wew 4] 100 Fg=

118. Pope Benedict XVI belongs to which country".D

(1) Italy (2} Germany (3) England (4) Spain
ov 3fgFe XVI fem 2w % €9
(1) s (2) < (3) FRITS 4) ==

119. Name of the First Indian to score a double century in cricket is

(1) Lala Amarnath (2} Polly Umrigar
(3) Mohd. Azaheruddin . (4) Sunil Gavaskar
s g AW wad R Gk § dee W S

{1) =Ten WY (2) drell IRGM

(3) WG ATEEN (4) e Tmare

(337) 35 (P.T.0.)
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120. Who was sworn as the First Chief Justice of India®
{1} R. C. Lohati {21 V. K. Krishna lyer

{3} P. N. Bhagwati {4) H. J. Kania
TRE & YR qE i F w8 fFw wey & o4

(1) amo Ho Arawd (2) o o P W
[3) o Wo wE {4) o o FhwN

121. What is the approximate length of India’s coastline?
URE F qHR a2 f anan e e 20
{1) 1500 km {2) 3500 km (3} 5600 km (4) 10000 km

122. The Chipko Movement is associated with

(1) felling of trees {2) water harvesting
{3) save the tiger (4) saving dams
forR ariem g R

(1) 38 F=1 * {2} @ T W (3) &g 94 @ (4) &g = R

123, Which Hindi writer was known by the name ‘Nirala’?

{1} Suryakant Tripathi (2) Jaishankar Prasad

(3) Sumitranandan Pant {4) Hazari Prasad Dwivedi
T %8 dws ‘e’ ¥ am @ ww sw@r 27

(1) i frad (2) wasw v

(3) ghar=a wa {4) Tl wamg A9

(337) | 36
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124, The instrument for measuring air pressure is calied
(1} anemometer (2) barometer {3) thermometer {(4) hygrometer

T F @ ) AW FW A AN Fea 2

(1} ufmrdfiee (2) Aqfex (3) uHTHR 4) wremde

125. Hirakud Dam has been built on the river
(1) Brahmaputra (2) Mahanadi (3} Krishna {4) Cauvery
Fe Ay s T 2 fEm A we?
(1) s&ga (2) TR (3) F=m 4) st

126. White Paper means
{1) paper used for currency
(2) Government paper for printing
(3) Government statement on a policy matter

{(4) paper on which the Constitution of a country is written

_a T H oAl g

(1) gﬁ%gﬁnﬁ?&mﬁww

(2) on ¥ wEH F

(3) fweht Asm & fawa W aR =
(4} =9 R w ot 2w = g@faum et @

(337) 37 (P.T.0.)
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127. Among the iour Vedas the oldest is

(1} Atharva {2) Sama (3) Rig (4} Yajur
IR 93 A gam @A @
(1) s1ud (2) ™ {3} =0 (4) AP

128. The Red Fort in Delhi was built by

(1) Shah Jahan (2} Jahangir {3) Aurangzeb (4) Akbar
e = e e R swamn?
(1) el 3 (2) WehiR 3 (3) sfroa 3 (4) =R A

129. Mist is caused by
{1) dry ice {2} ice at low temperature

{3) water vapours at low temperature (4] carbon monoxide in solid form

PEE HT B R
(1) @t =% (2) #9779 W T
(3} 9 a9 9 U A (4)aamﬁ$ﬁqﬁaﬁm

130. Bharat Ratna was conferred on A. P. J. Abdul Kalam in the year
To o o K FAW F WA e o wem R e

(1) 1961 (2) 1997 (3) 1998 (4) 1999
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Section—II
Hog—IX
Either

ENGLISH LANGUAGE TEST

Note : Four alternatives are given as possible answers to each question. Give the correct choice
as an answer,

Directions : (Question No. 131-134) Select the word nearest in meaning to the given italic
word.

131. Infirmity

{1) Weakness {2} Disease (3) Seriousness (4} Ability
132. Viclory

(1) Fortune {2) Progress {3) Defeat (41 Success
133. Reply

(1) Question (2} Return {3) Answer (4) Answer again

134. Vigilant

{1) Innocent (2) Alert {3} Careless {4) Lazy

Directions :  [Question No. 135-138) Select the word opposite in meaning to the given italic
word.

138. Triumph

(1) Failure 2} Joy {3} Victory (4) Gain

136. Display

(1} Show {2} Exhibit {(3) Conceal (4) Refuse to play
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13%7. Union

(1) Separation {2) Merger {3) Combination (4) Mixture

138. Magnify

{1) Produce (2) Attract {3) Reduce (4} Enlarge

Directions :  (Question No. 139-142) Fill in the blanks with correct preposition.

139, 1 do not believe

pampering children.

{1) on (2} in (3] upon {4) into

the Christians.

140. This custom mostly prevails

(1} upon {2} over {3) among {4) in
141. There is no exception this rule.
{1} for (2} from {(3) to (4} tn

142. He has the reputation -

being honest.

(1) at (2) in 3} of {4} for

Directions :  (Question No. 143-146) Fill in the blanks with the correct alternative.

143. Good boys do not quarrel with ——.

{1} each other (2) another (3) one another (4} other

144, Everyone to clear their dues.

{1) are required {2) required (3) were required (4) is required
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145. Neither the quality nor the prices

(1) have changed (2) has changed

(3) is changed (4) are changed

146. Hundred rupees too much for the job.
(1) seem (2) are seem (3) seems (4} is seeming

Directions : (Question No. 147-150) The underlined part of each of the given sentence
contains an error. Choose the option which will improve the sentence.

147. Technology must use to make a better nation.

{1} must be used to make {2) must be used to making

{3) must use to making (4) must be use to make

148, [ am working on this book since last January.
{1) was working {2) have been worked

(3) have been working {4} am worked

149. Can you tell me where does your brother live?

(1) where lives your brother (2} where your bhrother does live

(3) where your brother live (4) where your brother lives

150. Having tired of play he sat down to rest.

{1) Being tire of (2} Having tired with

(3) Being tired by {4) Being tired of
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Or

Herar

Y wra gheror
féw . frafafga v (1), 2), 3) @0 @) #9F F M-SR I A W, T I = =
A Tdt ) W T I B ghwy

151, = = wodw Ry § F9-91 g2 ROy mr 27

(1) Tgsmr (2) T s (3) TR (4) wgsT

152, W & qof anfs e 2

(1) = (2) W= (3) ] (4) =

153. “ufRnh R w1 y 98 2
| (1) @refre (2) W (3) = (4) wmmI

154, Ofvaris #fa ‘Red’ & g of

(1) ¥ (2) G (3) oradt (4) g
155. U= #Em RS @i w1 9w AR

1)z (2) 3 @ % 4) g

156. “‘wER e it & wite @d T
@ =i gg WM R}, wfew gan gamn”
foraeht ofeeai 27

(1) wWm (2) = (3) wegFH (4) Y
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158.

159,

- 160,

161.

162.

163.

164.

(337)

“ag Al w1 A9 5@ fa s
feraer afes 87

(1} fREn (2} "erRd!

g Yeg F TG FHIR

(1) wa 2) T=ofa

IS IR F w87 i
(1) IWF (2) 307

‘TIE e = wi-fde it

1] 4 + g+ (2) T + TH

‘gurgf’ § frm mama R g 27

(1) semftwa o (2) fop o

‘T’ w1 e wee I
(1) FIHR (2) Wl

‘nda’ #1 vgigael weg R
(1) Fm (2) U

‘& favhards wee feifag
(1 2 dm

(3}

@

43

(3)

(3)

(3)

(3)

3)

} + =

T gHE
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(4 Hars

(4)

(4)

4

{4)

4)

A1 + Teh

"Ry
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165. ﬁw%ﬁ@ﬁ,aﬁﬂﬂé
(1) ard (2) (3) 3fAw (4) TomE

166. ‘‘ffem ot vRad, R ot @@ @
T MR 3 SR, 9d wEy gy’

o g areier & G 27

(1) 3T (2) N (3) TH (4) &9

167. ‘Affidavit’ ®1 fg<1 wionfes =g 2
(1) Senfue o (2) ¥9g UF {3) wfora = (4) ufesr w3

168. mmm%

(1) TeFHTR (2) FFE 3) Jumm (4) Swgidl

169. &0 & ww guramua ‘50 wdle’ # oy wEl F gom w?

(1) w&w {2) aIToowh 3) B %) TGS

170, ‘@@ 39 qEat w1 oy R
(1) & Gl (2) IR f wlEd

(3) TTH W FAA (4) I8 w0

* ¥
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FufeE & fog fdw

(39 P & W9 STERU-J8 W I FWR-TF F qA1 g8 W Hae el @ wel So-uRe W4 @ o)

10.

11.

12.

13.

14.

YR g e % 10 e & e @ @ o 5 owAwm d wf gy g € e A ww
@ @ 21 I Avge TR WY W 3 gEN aoRe se-PREE # i aqd e 6
ol gfeem am oW W |

vher o A e WRa pdw-vr & offofte, e @ wr @ ot gon e Wy A 7 o

-9 Fo R R ™ R @ 7 @ 9 ol 7 & fawa 1 e yw-vx T fwr wm F9a I-
v #1 & qoaieT few i

RO FIHHID Y IT-UF @ FHE g47 RU-7¥ W 97 9 fwifa we w faw

TR-TF F 999 T8 W W § 790 FAgwas fgifta wr w fod qar 79 A 59 = ma W )
wel-o! oowEw @ @l we-gfee W wuiw A YT W TR Sfaw wwEl WA

3flo WHo Mo WA W FYHAG W&, W-Jeaw ea 9 42 der (AR #:E F) 39 vw-gfcw W
SEFEE do & afo Wo Mo X Ho = wiafbal ¥ sufiegs =t arqafa & ®i

o Ifw wfafedl § S8 ot ofied oy fdes g wfae @ =ifed s 9% & sfam wwm & wEm

TR SR

W-YiE § Wd® W % AR Aeicdd W G T4 ¥ | TP F9T & AH(CTH I & ford T I
77 # wEliw T & ae R TR g9 w1 9ve-vA & Rew B W 9 13 e F sger 97 @ mer
e &1

mm%mﬁﬁﬁmwﬁqﬁﬁwﬁlwﬁaﬁzﬁqﬁfaﬁ-wwmaww
g W Y T W FE W e W S

M ¢ % us an @@ g sifed W Sgen TE W wwar ®) afe e Tl W w0 sov 767 o wed
& O gfem dfe & g &) W ot g B wel S 3 W e | dw @ e

o wd & ol yw-yfas & qEys F R 9 98 au oifam 9§ w wEm =)
Ui F IR FaA HoTHoHRe IW-9F Wl vET T wH #W St
e wE W F Uesl W e @ 9 9 W # emafa Te gem

e F% agefl wiw F sgfa Wl = W W@ 3, @ 97 fowmtaemen g felfa 3 s, arh
grm/antt i
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